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Respiratory Exchange Ratio

RER- ratio of carbon dioxide released by the body to the volume of oxygen consumed
(vCo2/v02)
Itis used to estimate the relative contributions of fat and carbohydrate of ATP re synthesis.
Fat and carbohydrate differ in terms of oxygen and carbon dioxide produced during oxidation.

Fat oxidation requires a lot more oxygen that carbohydrate metabolism. When fat is the main fuel,
we tend to consume more oxygen which will make VCO02/ V02 and RER small.

When carbohydrate is the key fuel, we will consume a more modest amount of oxygen and VC02
and V02 and RER will be bigger- as less oxygen is required to breakdown carbohydrates.

We measure RER using a cycle ergometer with the athletes attached to a gas analyser which will
allow the volumes of carbon dioxide and oxygen being produced to be measured directly.

Measurement;

e RERat0.70 100% energy is coming from fat
* RER 1.0 100% energy is coming from carbohydrate
¢ RER 85% energy is coming half from fat and half from carbohydrate

Coaches can use this to tell if an athlete is working aerobically or anaerobically. it is only when RER
reaches 1.0 that the coach knows the performer is working totally anaerobically.




